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Questions

1 List the factors that affect the rate of reaction in a heterogeneous system.
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2.  Explain the following observations:

a. If a lump of iron is placed in a flame it simply gets hot. If powdered iron
is sprinkled into the same flame it burns and iron oxides are formed.
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b. The reaction Ag® + CI' — AgCl is faster than the reaction
C,Hg + Br, — CoHsBr + HBr
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To make some carbon dioxide a chemist puts some large pieces of marble in
a 0.10 M solution of hydrochloric acid. The rate of production of carbon
dioxide is too slow. List 4 ways in which the chemist could alter the conditions
so that the carbon dioxide is produced more rapidly and briefly explain each
using the Collision Theory.
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Method 4
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